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OAdl&te| 822 W0
205,000& = 3% * 23| 1,230
= 615
& 185
Al 430
OAdl&te] 8222 W=H|
75,0008 * 38 x 23] 450
= 225
& 67
Al 158
201 2Et24Ay| 4,870 1,570 3,300
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70,000& * 6% 63l 2,520
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OSIU=X KA FUHA M
500,000& * 4& 2,000
02 2324l 5,940 5,730 210
Os&22= 1,800
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301 LBt A= 147,220 130,000 17,220
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OIS SEFAY 2,761,040& » 509 138,052
= 109,475
S 8,573
Al 20,004
N HEAXSL(E) 11,760 10,080 1,680
< 3,528
Al 8,232
307 gl2tol & 11,760 10,080 1,680
= 3,528
Al 8,232
05 BIZHRI & 3 11,760 10,080 1,680
OPNE:PNE-Full= YN PN E=,
140,000& * 7& » 128 11,760
< 3,528
Al 8,232
ZOHQ SXNSI (M =X /FALHESA ) 16,729,412 11,344,010 5,385,402
= 3,619,154
J| 3,368,000
= 442,895
= 3,829,940
Al 5,469,423
Zoe sXSd 16,729,412 11,344,010 5,385,402
= 3,619,154
J| 3,368,000
=2 442,895
< 3,829,940
Al 5,469,423
Zopel SXIALE X & 291,290 318,420 A 27,130
201 Let24d] 35,890 31,050 4,840
01 At 22/l 35,890 31,050 4,840
OZOMARSIHEX 7
1,000& = 11&  1000H 1,100
OMZZOHAHAIR A & Xt
500,000& * 12& 6,000
OXNEZHAXSHKNAEE AIRA LXZ
500,000& * 12& 6,000
OFMerEse=2X2 AAELJ A=
70,000 * 7% x 13 490
OFMEsNa==AA & 0ldMHAAAA
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OFMHAHEHAAN LA & AHBARASE
70,000& = 6¥ = 158 6,300
QXM HEHYNE BRI 2 (2F, SUHS)
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Sl FOHY =SXBA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OFMUSE =2 2HESL dA=E
170,000& = 108 * 13 1,700
301 et a = 26,800 26,800 0
01 MEIBZE 05z 10,000 10,000 0
OWEHMASMTAZS X
1,000,000& * 10 10,000
10 #AtAHIE A3 16,800 16,800 0
OZOML MW= 0 14,000
—SXEolee A A4 70,0008 * 40H 2,800
— o=t A 70,000 * 409 2,800
—ZOMHAMHEZSEUE A 70,0008 * 40H 2,800
—d==0t2 e &4 70,000& * 409 2,800
—ISZMHABESEUHZ A
70,000& * 409 2,800
OOl II=s&IItHal 70,0008 * 20 = 2 2,800
307 gl2tol & 203,800 194,000 9,800
10 A2l S X2 X 203,800 194,000 9,800
OXOHeIES AtRa 22 XA
1,500,000& * 6&HH 9,000
OZESEHMA0ISAY X (XIA)
25,000,000& * 10024 25,000
OMSEMAH, AFH2XAS (XIA)
10,000,000& * 1JH A 10,000
oz =x=2 2L XA (XH)
60,000,000& * 10024 60,000
OAMZLZOHTHE MBI AAISE (BT F)
3,000,000& * 10024 3,000
OMNU2HEHAAIE 288 XA
300,000& = 3K + 123 10,800
OFHeIdY JE A 9,000,000& =+ 13l 9,000
O=3tol=HM&A X 3,000,000& * 12/ 3,000
OZ=X< Zoel stotsHMsEUal
7,000,000& = 13l 7,000
OUETHMA=SXHE X A AMOILIAA K&
3,000,000& * 12/ 3,000
OXeI=RZ 0lsS=S22AY XA
1,500,000& » 12& 18,000
OZOMA=X2 O/2HMLY =X 2
1,500,000& » 12& 18,000
O=tSAdH =3tua 29
8,000,000& * 1JH A 8,000
OXe HY Jl=u= X
400,000& = 509 20,000
401 AIEHI L 20 10,800 0 10,800
01 A& HI 10,800 0 10,800
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= M W
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—Z3gl82 520 WA
60,000,000& * 14 60,000
—ZFEHIIE2 HAHES
25,000,000 * 14 25,000
—ZEHIIE2 SA4THAEE DVO WA
2,000,000& » 504 10,000
OZSE ZOQ HYAME 2=
30,000,000 * 14 30,000
402 RI2FX20| ™ 10,000 13,000 A 3,000
01 2I2tR2E X 10,000 13,000 A 3,000
OBE3 2 Bx(S4 55 2AH
10,000,000 * 14 10,000
BRI AEUH=L(T) 777,600 771,600 6,000
< 154,234
Al 623,366
301 et a =z 777,600 771,600 6,000
< 154,234
Al 623,366
01 AR 2Z A 53 777,600 771,600 6,000
OFHERISA =& 756,000,000 * 14l 756,000
< 154,234
Al 601,766
OFERI3X MLAZZ
200,000& = 9% = 123 21,600
A 2HZHI (AL S X 2H)(J1EFH/IIE) 157,456 130, 196 27,260
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M ASS D
HA: HH2IHHI(AS S X)) (IIEH/IIE
chel: ol gyl CEEEED
A - ER(EN) - AR - B of & o4 SSa HIDZ2
el 2l 27,906 26,526 1,380
el =gl 27,906 26,526 1,380
101 @124 H] 27,906 26,526 1,380
03 RIHLZ 22> 27,906 26,526 1,380
OdAEsA(AlgEAh2elel 27,906
—Jl=2 42,4803 = 18 » 250 10,620
— 403 5,310& = 12Z = 209A12t » 400% 4,440
—ZEFOH
53108 = 128 » 209A12t » 23] * 75% 1,665
— ==L (HIRX) 40,0008 * 1¥ = 128 480
—2soay
10,0003 = 1& » 8@ » 123 960
—AlA22E
5,310& » 13AI12F = 150% ~ 1& » 12& 1,243
—sd2fEg
42,480% * 18 » 502 = 150% 3,186
- 5= 42,480% ~ 18 * b2 2,209
—F252¢+9 42,4808 = 18 » 12& 510
—AXRESFI=E 42,4808 ~ 198 x 18¥ 765
— =&l 100,000& * 18 = 12& 1,200
— wSH| 44,0008 = 1% « 128 528
— I =H| 100,000 * 18 * 1< 100
Jl=3dl 129,550 103,670 25,880
Jl=3dHl 129,550 103,670 25,880
201 fEt2E | 27,650 21,070 6,580
01 At2 2t 2l bl 27,650 21,070 6,580
OSAEXN F 13,000& = 258 A « 123 3,900
OEZ20HAHI 6,000& = 641 = 25Q = 12& 10,800
Ogitexg 100,000 * 128 1,200
OArE =AY 50,000& » 123 600
Ox7L ==&t 9,650
— SAD =el(AE) 500,000& = 1.5CH 750
—ZgH el 100,000 * 6CH = 50/100 300
—SAMJ B 200,000& = 52 = 1.5CH 1,500
—Z2E EU(S%) 200,0008 » 53 * 6C4 6,000
—PC ==¢l 100,000 * 2504 * 20/100 500
— JIE #=elbl 50,000& » 12& 600
OJIEH AtR22lH 5,000& = 26@ » 12& 1,500
202 o4 Hl 96,500 77,200 19,300
01 S OHI 96,500 77,200 19,300
OAtzl =X S22 04| 96,500
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AN ALEI =X
A HHE2H AU (A= X2 (I1EHIIE

@2 Jl2&tl (&2 &)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
— ZHLH O B 20,000 * 259 = 12 * 12& 72,000
— 2204 H| 70,000& * 259 * 14 24,500
203 R =&H| 4,200 4,200 0
04 ENSHLRF=XH| 4,200 4,200 0
ORANSIELERF=AH| 350,000& * 12& 4,200
204 &R = A | 1,200 1,200 0
01 S HR-HAY| 1,200 1,200 0
ORI ALAHAY| (Al =X W E)
100,000& * 1% = 12& 1,200
MPE= (MR (A X /I =MEBEH) 1,871,534 1,768,981 102,553
WEHAH K= 1,871,534 1,768,981 102,553
WEAHHX = 1,871,534 1,768,981 102,553
701 JIEIS HEEZ2 1,871,534 1,768,981 102,553
01 JIEtSI HE &= 1,871,534 1,768,981 102,553
@I R=10 =

SEINEES(NLHREH)
.8

1,871,534,000& * 14

—

,871,534
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